
INSTALLATION INSTRUCTIONS 
John Deere One Series and 20 Series 

05-11170 
12-19-14 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

A-11859 
TEMPERED GLASS DOORS KIT   

Fits Cab Kit A-11858 for 20 Series tractors 
and 

Cab Kit A-11976 for One Series tractors 
 
 
 

Page 1 of 5 3/6/2015



INSTALLATION INSTRUCTIONS 
John Deere One Series and 20 Series 

05-11170 
12-19-14 

 
Read these instructions and identify all components.  Please retain these instructions for future 
reference and parts ordering information.  Refer to kit components and Figure 1 for general layout.   
 
Kit Components: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ITEM  QTY DESCRIPTION P/N 
1 1 DOOR ASSEMBLY, LH 4-15556 
2 1 DOOR ASSEMBLY, RH 4-15557 
3 1 DOOR MOUNT BRACKET, LH 2-16507 
4 1 DOOR MOUNT BRACKET, RH 2-16508 
5 1 HARDWARE KIT (CONSISTS OF ITEMS 6-11) 4-15558 
6 2 STRIKER STUD, 10 MM 3-18069 
7 2 10MM HEX JAM NUT 3-18070 
8 8 5/16 X 3/4" LONG, TRUSS BUTTON TORX BOLT 3-19340 
9 8 5/16" FLANGE NUT 3-17111 
10 4 BRASS HINGE WASHER B3-15971 
11 2 BALL STUD FOR GAS SPRING 3-11821 

1
2 

Figure 1 

3

4

11

10

6 7

9 
8

Page 2 of 5 3/6/2015



INSTALLATION INSTRUCTIONS 
John Deere One Series and 20 Series 

05-11170 
12-19-14 

 
Note:  Cab kit must be installed prior to installing this kit! 
 
Installation of doors: 

1. Remove knock-outs from rear cab side panel (Figure 2). 
2. Secure hinge mount bracket (3 LH) (4 RH) onto rear cab side panel and secure (Figure 2); 

 (8) 5/16 x 3/4" long, truss button torx head bolts (8) 
 (8) 5/16” flange nuts (9) 

3. Place brass washer (10) onto each hinge pin location (Figure 2). 
4. Install each door (1 LH) (2 RH) onto corresponding hinge bracket. 
5. Install striker stud (6) and jam nut (7) to each LH and RH side frame striker mount (Figure 3).  
6. Open and close door.  Adjust striker and hinge mount brackets for proper alignment. 
7. Install ball stud (11) into each side header of cab (Figure 3). 
8. Remove nylon tie that secures gas spring to door frame tube (Figure 3). 
9. Connect gas spring end to ball stud (Figure 3).   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Installation is now complete.  If you have any questions or comments, contact; 
 

Figure 2 Figure 3 

STEPS 
1 & 2 

STEP 3

STEP 3

STEP 5

STEPS 
7-9 

Page 3 of 5 3/6/2015

cad1
Text Box
693-4833

cad1
Text Box
CPcabs.com



Page 4 of 5 3/6/2015



Page 5 of 5 3/6/2015




